Practice Paper - I
Class X for Compartment Students

(Mathematics/Tford)
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General Instructions:
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All the questions are compulsory.

Please write down the Serial Number of the question before attempting it.

The question paper consists of 15 questions and it is divided into four sections A, B,
CandD.

Section A comprises of 3 questions carrying 1 mark each.

Section B comprises of 3 questions carrying 2 marks each.

Section C comprises of 5 questions carrying 3 marks each.

Section D comprises of 4 questions carrying 4 marks each.

There is no overall choice. However, an internal choice has been provided in 1
guestion of 1 mark, 1 question of 2 marks, 2 questions of 3 marks and 1 question of
4 marks each. You have to attempt only one of the alternatives in all such
questions.

Use of calculator is not permitted.
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The area of two similar triangles are 25 cm? and 121 cm®. Find the ratio of

their corresponding medians.
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If sin B = " calculate cot B.
OR

tan 55°
cot350 °

Find the value of
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A(5, 1), B(1, 5) and C(-3, —1) are the vertices of AABC. Find the length of
median AD.
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A die is thrown once. Find the probability of getting (i) a composite
number, (ii) a odd number.
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Find a relation between x and vy if points A(x,y), B(—4,6) and C(-2, 3) are
collinear.

OR
Find the area of a triangle whose vertices are (1, —1), (-4, 6) and (-3, -5).
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Three different coins are tossed simultaneously. Find the probability of
getting exactly one head.
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i 0—15 |15 — 30 | 30 — 45 |45 — 60| 60 — 75
IRIRAT 6 8 10 6 4

By changing the following frequency distribution to ‘less than type’
distribution, draw its ogive.
Classes 0-15 |15-30 |[30-45 45-60 [60-75

Frequency | 6 8 10 6 4
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AD and PM are medians of AABC and APQR respectively, where

AABC ~ APQR. Prove that % - 4P

PM -’
OR
Prove that the sum of the squares of the sides of a rhombus is equal to the
sum of the squares of its diagonals.
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Find the ratio in which the line x — 3y = 0 divides the line segment joining
the points (— 2,-5) and (6, 3). Also, find the coordinates of the point of
intersection.
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=, 0°%< A + B < 90° A > B, then find the

If tan (A + B) =1 and tan (A —B) =

values of A and B.
OR

If cose + sind = /2 cosO, show that cosd —sinf = V2 sine.
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Prove that the lengths of tangents drawn from an external point to a circle
are equal.
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If a line is drawn parallel to one side of a triangle to intersect the other
two sides in distinct points, prove that the other two sides are divided in
the same ratio.
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1?:0?@ 15(22?1(2) = 1+ sech cosecd

Prove that:

(1+COt(:;t32112(ssmzfc) 2075 - sin’x cos’x
OR

Prove that:

1t_acno®® lf:;‘iw =1 + sec® cosecd
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(sin6 + cosecd)? + (cose + secB)? =7 + tan20 + cot20

Prove that:

(sin® + cosecH)? + (cosb + sech)? = 7 + tan?6 + cot?0
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Cul 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | 60— 70 | Bl

o)

IRERAT | x 5 9 12 y 3 2 40

If the median of the following frequency distribution is 32.5, then find the
values of xand y.

Class 0-10 |10-20 | 20—-30 | 30-40 | 40-50 | 50-60 | 60— 70 | Total

Frequency | x 5 9 12 y 3 2 40




